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H 1 C 12 N 14 O 16 Na 23 S 32 Co 59 Cu 64

一 选择题（本题共 10小题，每小题 4分。在每小题给出的四个选项中，只有一

项是符合题目要求的）。

1

A 84 Ca(ClO)2

B

C CaO·MgO·2SiO2

D

2 NA

A 15.6 g Na2O2 0.6NA

B 2.8 L 3NA

C 1 mol N2 4mol H2 NH3 2NA

D 1L 0.1 mol·L−1 CH3COOH H+ 0.1NA

3 M M

A C19H22O2

B 11

C 1mol M 5mol Br2

D Na NaOH
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A Pb + PbO2+ 4H+ + 2SO42
− 2PbSO4 2H2O

B CO2 Na CO2 NH3 H2O NaHCO3↓ NH4

C Ba(OH)2

Al3 +2SO42
−+2Ba2 + 3OH Al(OH)3 ↓+ 2BaSO4↓

D I− IO3 3Cl2+I +6OH =IO3 +6Cl +3H2O

5 I2 I2

6 Fe2+

Fe2+ Fe2+ A

W X Y 1~10

A X Y W A

B X A

C W X Y

D A W X

7

A

B

C

D H2S+CH3OH CH3SH+H2O
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8 SO2 SO3 SO3

SO3 SO42
− SO2 SO2

A SO2

B BaSO4 SO3

C H2O2+SO2=H2SO4

D 0
9 (MFC)

A A B
B A CH3CH2COO−+4H2O−14 e−= 13H++3CO2↑
C CH3CH2COO− NH4+ 3:14
D

10. 4mL0.2mol·L−1 20mL0.2mol·L−1CaCl2 0.2mol·L−1Na2CO3

pH Na2CO3 [Ksp(CaCO3)=5.0×10−9

]

A a=1+lg3
B A B D

C B 2c(Ca2+)+ c(H+)+ c(Na+)= c(OH଀
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二 填空题（本题共 5小题，共 60 分）
11 13

LiCoO2

Cl−>Co2+
Fe3+ C2O42− [Fe(C2O4)3 ]3− Fe3+

1 _______
2 E _______
3 A B _______ LiCoO2

_______
4 Ksp(CoCO3) 1.4×10−13 Ksp(CoC2O4) 6.3×10−8 CoCO3+C2O42

−

CoC2O4+CO32
− _______

5 C _____ FeCl3·6H2O
6 CoC2O4·2H2O 1.0g

[(NH4)2C2O4] 0.1000mol·L-1KMnO4

KMnO4 20.00mL KMnO4

_______ _______
12 14

HSO3
- Cu2

(CuCl)

1 CuSO4·5H2O 100mL 1mol·L-1CuSO4 CuSO4·5H2O
_______ 2 CuSO4

_______
2 2 _______

SO2 _______
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3 2 _______

_______
4 2 HSO3- Cu2+

Cl- Cu+ HSO3- 3 a b

K
U _______ a _______

1 2
_______

5 4
_______ 3

4
U _______

13 13

I CO2

6H2(g)+2CO2(g) CH2=CH2(g)+4H2O(g) H

1

H H C=O C=C C H H O

/kJ·mol-1 a b c d e

H=_______

2 [n(H2)/n(CO2)=x] CO2 1

a____3 > < = M N KM____KN

200 5L 3mol H2 1mol CO2 10min

_______

3 CO2 2

2 _______ _______
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II CO2 CO
4 3 H2O-CO2

_______
2CO C+CO2

_______
a
b
c

14 10 GaAs

1 Ga _______ _______
2 GaAs GaN GaAs_______GaN > <

Ga_______As
3 As2S3

1 As
_______

4 GaAs 2 GaAs
As As _______ Ga As _______

5 a pm Ga As _______pm
15 10

R1CHO + R2CH2CHO

1 B _______ I _______
2 D E _______
3 F I J _______
4 1mol H NaOH NaOH _______
5 FeCl3 G _______

_______


